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9.1 Il o] A

A|ZHO| k2t 1 Sh= KpA| KAl L ef Hi2] =0 73 = 2

do N
emf = — —[ ] Where Cp I[:”*'IE LH | % %I’_l-ol-E Xl— Surface area S

) e

do/dt # 02 AL

B>

M= 222 M mshHAM A|ZH| w2} HEH= R

o i —/ |_
tu]:‘Tn évﬂ Ammeter
s
LYot ALH0M HUM o= RSot= =2 —
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I =[O

emf = f -dL =

2 = YA|HTE (AlZtoll T2t #Hots XH) + LHD
XM= 2Z LHe| AH XA

emfszEm-sz—

f(VxE) ds = — j

- dS <« Stokes’theory

:>(|7XE) dS_—_tdS

o ={cilof A

0B
VXE=—-—:0&
[ dt |

[Bw] EHA

$E-dL=0 and VXE=0

J
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A& 22 BUO[M SE vE 2S5t= 5 ol 2E85t= &
F
F=0vXxB or 5=VXB

25 ™AMIZ| (motional electric field intensity)

E,=vXB
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9.1 Il o] A

HAMXA 2ZE0|= H=22 (021 9.1)
A atchofl o)st 2= 7|™M & (motional emf)

emf=j€Em-dL=§>(va)-dL

Voltmeter

0
f(vx B) - dL =j v Bdx = —Bvd
d

HMH| 7| w=a/

d
emf=j£E-dL=—EJB-dsMS(va)-dL
S
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9.1 Il o] A

[S80IA| 9.1] € = 1071 [F/m], u = 10~°[H/m], B, = 2 x 10™* cos 10°¢t sin 1073 y[T].
_ OE
(a)VxH—eat,E?

1 7))
VxH=—(VxB)=€e— (~ B = uH)
U dt

a, a, a,
o a 4| o 9

VB =19x oy 02| T oz T gy B
B, 0 0

]
= _@(2 X 10"*cos10°t sin1073y) a,

0
= —2x%x 10"%cos10°t asin10_3y a,

= —2 % 10"*c0s10%t 10 3cos10 3ya,
= —2%x 107 7cos10°t C0$10_3y a,

JE 1
€— = ;(\7 X B) = —2 x 1077cos10°t cos10~3ya,

dt
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9.1 Il o] A

1
E = EI — 2% 1077cos10°t cos10 3y dta,
1
_EZ X 1077 cole‘3yf cos10°t dta,
2 %1077 cos1073y
10711 x 10>
= —2 x 10%*cos107 3y sin10°t a,

X 10~°sin10°t a,
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9.1 Il o] A

(b)t=1[uS].x=0,0<y<40[m],0<z<2[m]Q HS HESH= ™A X% ?

40 (2
b = B-S:f f B,dzdy (< B2}S= H3l)
y=0+Jz=0

40 2 40 2
= f 2 X 107%*c0s10°t sin1073ydzdy = 2 X 10‘400510515] sin 10‘3yf d zdy
y=0+Jz=0 y=0 z=0
40
=4 X 10_4c05105tj sin1073ydy = 4 X 10™*cos10°t X 10-3 [—cos1073y]5°
y=0
=4 x 10" 1c0s10°t X (cos0 — cos0.04)
A;
— 0.4 x c0s0.1 X (1 — 0.9992) (<t =107 )
2 >
_ -3
= 0.3184 x 10~3 [Wh] | v,
3 20 3
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9.1 Il o] A

(c) (b)el =22 EQ M 27

A
$E - dL = emf )
2 >
fE-dL:fE-dL+JE-dL+jE-dL+jE-dL 1A \ k!
1 2 3 4
3 20 3

JE dL+j E-dL <—jE-dL=jE-dL=O ’
1 2 4
2
jE dL:jEZdz
0

2
j — 2 %x 10%*cos1073y sin10°t dz
0

2
= —2 %X 10%*cos107 3y sin105tj dz
0

= —20000 X cos0 X sin0.1 x 2
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9.1 Il o] A

0
= f — 2 %X 10*cos1073y sin10°t dz
2

=~ A
Y

0
= —2 X 10*cos107 3y sin105tf dz
2

y=40
= —20000 X c0s0.04 X sin0.1 x (—2)

jsE-szfE-dL+jE-dL
1 3

= 40000 X sin0.1 X (—cos0 + c0s0.04)
= —3.1942 [V]
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9.1 Il o] A

[E80IX| 9.2]d = 7 [cm], B = 0.3a, [T],v = 0_1ay320y[m/5]’ t=0Y I y=0

(a) v(t = 0)
v =0.1e?% = 0.1e° = 0.1 [m/s]

(b) y(t = 0.1)

dy
= — = 0.1e?%
1% dt e
1 e 2% = -2t —2c

01020y &Y = dt ; —20y = In(—2t — 2¢)

' | 1
[10e72%dy = [ dt 5 y = —2—Oln(—2t — 2¢)

10 _,, y=—iln(—2t+1) «t=0,y=0,-05e’=c—>c=-05
_—208 Y=t+c ! 20 ,
_05e-20Y = ¢ 4 ¢ i y(t =0.1) = —2—01n(—2 x 0.1 +1) =0.01115 = 1.115 [cm]
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9.1 Il o] A

(c) v(t = 0.1)

v =0.1e2%Y |
y=0.01115

=0 1620XO'01115

= 0.125[m/s]

emf = _d_cp = —Bﬂd = —Bvd
dt dt
Vi, = —0.3x%x0.125x 7 x 1072
= —2.625%x 1073
= —2.625 [mV]
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9.2 TR

HA 7L A ZHof| 2 Hot= 32

HAXA - 2|0 2] F=2| H 2 0f[ A
VxH=]
V-VXH=0=V"]

INLPN |
dpy
Vel =
VxH=]+G, where G: 0|X|&
o _Opy
V-7XxH=0=V-J+V-G = G=—

v G—a(V D)=V oD
ot ot
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GD
S ¢ Ot

aD
j(VXH)-dS=J]-dS+j—°dS
S S s Ot

Stokes’ law

oD
gﬁH-dL=1+1d=1+f—-ds
, Ot
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V-D=p, = %D-dS=J Py AV
S vol

0B
VXE=—— = $E-dL = — f— dS
ot
oD
\7><H=]+E o ¢H- dL—I+f— ds
V-B=0 = fB-dS=O
S
EZE WA
D = cE
B = uH

J=0oFE MEXMFREL
] = p,v HETSIEEO| oot Ll FHFRET
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